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(1) Why the suspensions does not form a homogeneous mixtur ‘f\/b )
The suspensions do not form a homogeneous mixture bec g@ particles are big enough and
remains undissolved. a%\
(2) Why we stir paints thoroughly before using?
Paints are examples of suspensions. If we do not’stir'the paint before use, the particles will settle
down. (3) What do you mean by, like dissolve%gﬁe ? Explain with examples.

OR \
What is general principle of solub h
The general principle of solubilj ike dissolves like”.

e Jonic and polar substsa@w soluble 1n polar solvents
e Non-polar substances-are-Soluble in non-polar solvents.
(4) Why is iodine soluble in CCl4 and not in water?
Iodine 1s non-polar and soluble in non-polar solvent CCls. While water 1s polar solvent and 1odine 1s
non-polar. Theretore 10dine 1s not soluble 1n water.
(5) Why test tube becomes cold when KNO:3 is dissolved in water.
When KNO3 is dissolved in water test tube becomes cold because heat 1s absorbed.
(6) Why are the colloids quite stable?
Colloids are quite stable because particles of colloids do not settle down for a long time.
(7) Why does the colloid show Tyndall effect?
Colloid show Tyndall effect because there particles are large enough to scatter the beam of light.
(8) What is Tyndall effect and on what factors it depends?
“The scattering of the path of beam light by colloid particles is called Tyndall effect”. It depends
upon the size of particles in colloids.
(9) Define Molarity. Write its formula.
“Number of moles of solute dissolved in one dm? of the solution is called molarity”. It is represented

by M. The formula used for the preparation of molar solution is as follows.

Mass of solute (g)

Molarity (M) =
olarity (M) Molar mass of solute(g mol™*) X Volume of solution (dm?)

(10) Define percentage — Tass (E %)?

Mass \m
“The mass of solute in grams dissolved in 100 gram of solution 1s called %m/m”. Its general formula

1S
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Mass of solute (g)

%age%: x 100

Mass of solution (g)

(11) Define percentage Tass (% %)?

Volume
“The mass of solute in grams dissolved in 100 cm’ of the solution is called %m/v”. Its general

formula 1s

y m Mass of solute (g) 100
? 9855 T Volume of solution (cm?) §

Volume (X o ) ?
Mass m

“The volume of a solute in cm? dissolved in 100 g of the solution is called %v/m”. Its general formula
1S

(12) Define percentage

v Volume of solute (cm?3
% age— = ( )><100

Mass of solution (g)

(13) Define percentage il (% %) ?

Volume
“The volume of a solute in cm? dissolved per 100 cm? of the solution is called %v/v”. Its general

formula 1s

o v Volume of solute (cm?)
Yo age - = _ :
A% Volume of solution (cm?3)

(14) Define solubility.
“The number of grams of the solute dissolved in 100 gram of a sol)zgrg[ to prepare a saturated solution
at a specific temperature is called solubility”. QK:{)

(15) What is meant by aqueous solution? Give an example @ |
“The solution 1n which water acts as solvent 1s known @\l@)us solution”. For example sugar in

X 100

water and table salt in water. P 0%
(16) Define solute and solvent. N7 @
Solute: NS
“The component of solution which is pr s@@ smaller quantity is called solute”.
Solvent: QQ\J,

“The component of solution whi esent 1n larger quantity 1s called solvent”.
For example salt solution is made-by dissolving salt in water, here water is solvent and slat is solute.
(17) Define aqueous solution RN
The solution formed by dissolving a substance in water 1s called aqueous solution. For example salt
solution 1s made by dissolving salt in water, here water 1s solvent and slat 1s solute.
(18) Define saturated solution.
“A solution containing maximum amount of solute at a given temperature 1s called saturated
solution”.
(19) Define supersaturated solution.
“The solution which 1s more concentrated than a saturated solution 1s called supersaturated solution”.
(20) Define unsaturated solution?
A solution which contains lesser amount of solute than that which 1s required to saturate 1t at a given
temperature.

(21) What is difference between dilute and concentrated solution? (uzélgéz(ﬁ D liysn )

Dilute solution Concentrated solution

Those solutions which have relatively | Those solutions which have relatively
1 small amount of solute are called large amount of solute are called
dilute solutions. concentrated solutions.

“@Pakcwmg %" Long questions of previous board papers |

I. Define solubility and what is the general principle of solubility? Explain.
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It can be defined as
“The number of grams of the solute dissolved in 100 gram of a solvent to prepare a saturated solution at a
specific temperature 1s called solubility”.

The general principle of solubility is “Like dissolves like”.

Ionic and polar substances are soluble 1n polar solvents. Ionic solids and polar covalent compounds
are soluble in water e.g. NaCl, sugar and alcohol all are soluble in water.

Non-polar substances are not soluble in polar solvents. Non-polar covalent compounds are not soluble
in water e.g. ether, benzene and petrol are insoluble in water.

Non-polar substances are soluble in non-polar solvents (also called organic solvents). For example
grease, paints naphthalene are soluble in ether or carbon tetra chloride (CCly) etc.

II. What is the difference among the following? (CClgu;gJ)KZLJﬂ,uzﬁc 4 ;:f’ alor? § uflgf( )

(1) Solution (ii) Colloids (iii) Suspensions

1 The particles have diameter Their size 1s in between The particles have diameter
10 cm. solutions and suspensions. 10 cm.
It appears as homogeneous but
It form a homogeneous : It form a heterogeneous
2 . actually 1t forms .
mixture. : ~| mixture.
heterogeneous mixture. (ON
)
3 Particles cannot be seen by Particles cannot be seen @& | Particles can be seen by naked
naked eye. naked eye. L\ eve.
y y 0,\@\%\ y
| S\ |
4 Particles can pass through Partlcles&rgﬁ?gs‘s through Particles cannot pass through
filter paper. filter p&/p@‘g./ filter paper.
~L0
hey d h dall \QB B hey d h dall
5 They do not show tynda Sﬁngy show tyndall effect. They do not show tynda
effect. @ effect.

III.

AN

Describe the solute-solve,\ rteraction for the preparation of solution.
To dissolve a solute 1n a solvent following three events must occur.

e Solute particles must separate.

e Solvent particles must separate.

e Solute and solvent particles must attract and mix up.

In solid NaCl, the positive Na"ions and negative CI ions are held together by strong electrostatic
forces of attractions. Water 1s a polar molecule. When solid NaCl is added into water 1t dissolves

readily because the attractive interactions between 1ons of NaCl and polar water molecules are strong
enough to overcome the attractive forces present between Na" ions and CI” ions.

In this process the positive end of the water dipole 1s oriented towards the Cl” 1ons and the negative
end of water dipole is oriented towards Na" ions. This ion-dipole interaction is so strong that they pull

these 1ons from their positions 1n the crystal thus NaCl dissolves in water as shown 1n the tigure.
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IV. What is solubility? How temperature effect it. Write in detail.
It can be defined as
“The number of grams of the solute dissolved in 100 gram of a solvent to prepare a saturated solution at a
specific temperature 1s called solubility™.
Temperature has major effect on solubility. When a solute 1s dissolved in solvent there are following
three possibilities.
Heat is absorbed:
When salts like KNO3, NaNO; and KCl are dissolved in water the test tube becomes cold. It i1s an
endothermic process. Usually solubility increases with increase in temperature for such solutes.
Solvent + solute + Heat = Solution
Heat is given out:
When salts like L12SOy4 etc. are dissolved in water the test tube becomes warm. It is an exothermic
process. Usually solubility decreases with increase in temperature for such solutes.
Solvent + solute = Solution + Heat
No change in heat:
In some cases during solution formation neither the heat 1s absorbed nor released. When salts like NaCl

1s added 1n water, the solution temperature remains almost the same. In such solutions the temperature
has minimum effect on solubility.
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